
SAP ABAP table ROIUT2_COMM_EPVENTURE {E&P Venture Communication Structure}

ROIUT2_COMM_EPVENTURE

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

STS_CODE [CHAR (2)]

COUNTRY [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

ACQ_FROM_KUNNR [CHAR (10)]

SLD_TO_KUNNR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROIUT2_COMM_EPVENTURE-ACQ_FROM_KUNNR = KNA1-KUNNR 

0..N

1

 ROIUT2_COMM_EPVENTURE-SLD_TO_KUNNR = KNA1-KUNNR 0..N

1

OIU_CM_LXPGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

 ROIUT2_COMM_EPVENTURE-PRI_GEO_LOC = OIU_CM_LXPGL-PRI_GEO_LOC 
0..N

1

OIU_CM_LXSGL

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

PRI_GEO_LOC [CHAR (2)]

SEC_GEO_LOC [CHAR (3)]

 ROIUT2_COMM_EPVENTURE-SEC_GEO_LOC = OIU_CM_LXSGL-SEC_GEO_LOC 
0..N

1

OIU_CM_VNAMST

MANDT [CLNT (3)]

VNAME_STATUS [CHAR (2)]

 ROIUT2_COMM_EPVENTURE-STS_CODE = OIU_CM_VNAMST-VNAME_STATUS 

0..N

1

OIU_DO_JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 ROIUT2_COMM_EPVENTURE-VNAME = OIU_DO_JV-VNAME 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ROIUT2_COMM_EPVENTURE-BUKRS = T001-BUKRS 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 ROIUT2_COMM_EPVENTURE-COUNTRY = T005-LAND1 

0..N

1


